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Resources/Examples
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I bolieve that these two triangles

based on the fact that

Further evidence can be found by

. This proves that

. Because they

the two criteria of similar triangles,

atd

6. Use the dlageam st the right.
#. What stiple besides / TRR mensures 26%2

b, What is the measuse of LTRK?

¢ What is the meawnre of £T?

. What is the value of 27

Vertical angles:

Verticat anples are
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Further evidence can be found by,

Same Side Interior (551):
. This proves that
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Linear Pair:
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Mathematically Speaking!!!

Function Notation

Evaluate the function with
the given domain, identify the
range.

f{x)=3x-4
Domain: 0,2,3,6

Evaluate the function with
the given domain, identify the
range.

glx} =3x-4;
domainx=-2,-1,0,1,

Evaluate the function with
the given domain, identify the
range.

hx)=%2x+3
Domain; x> 0

Evaluate the function with
the given domain, identify the
range,

i(x}=5
Domain; x < -2

- Evaluate the function with

the given domain, identify the
range.

ixj=x+2
Domain: x> 2

Evaluate the function with
the given domain, identify the
range.

kix)=3x+2
Domain: 3,5,7,9

Evaluate the function with
the given domain, identify the
range.

m(x) = g—

Domain: 6,9, 12

Evaluate the function with
the given domain, identify the
range.

n(x) = 5x?
Domain: -2 <x <8

Evaluate the function with
the given domain, identify the
range.

p(xj=x-4
Domain: 0 <x<7

Evaluate the function with
the given domain, identify the
range.

q(x) = 85x-3
Domain: 80 < x < 1060

Evaluate the function with
the given domain, identify the
range.

rixj = 6.3x-9.7
Domain: x > 14

Evaluate the function with
the given domain, identify the
range.

s{x) = x2
Domain: -5<x <5




Mathematically Speaking!!!
Function Notation

Partner #1: Evaluate the function and explain your
thinking using the vocabulary words in the table
below.
Partner #2 will check off the vocabulary words each
time you use them.
Partner #2, encourage your partner to continue
explaining until they have used all the vocabulary
words.
Then switch and partner #2 will evaluate a different
problem while partner #1 checks off the vocabulary
words.
Partner | Pariner
Math Vocabulary #1 49
Discrete
Continuous
f(x)
x-value
Constraints
Input
Output
Function
Domain
Range
Solutions




Rating (1-2-3)

Teacher expectations and
strategies engage students in 1-2-3
rigorous work.

Teachers uses strategies that

capitalize on learning needs of 1-2-3
students
Teacher sets expectation and
provides support for a variety
of engagement strategies and 1-2-3
structures that facilitate B
participation and meaning
making by students.

Students have the opportunity
to engage in quality talk and
student talk reflects
knowledge and ways of
thinking associate with
content.,

Students provide evidence to
support thinking.

- Evidence

In regards to , I believe

due to the fact

Further evidence of is when students/teacher did

Adapted from 5D+ Teacher Evaluation Rubric — Center for Educational Leadership




Post It Note / Sticky Note: 3” X 3”

..is an example of direct ..Is an example of direct
variation because variation because
and and
_.is an example of direct .is an example of direct
variation because variation because
and and
..is an example of direct .is an example of direct
variation because variation because
and and




Name

Angle Relationship Test

Word Bank ,
Alternate exterior angles  Alternate interior angles Complementary
angles Corresponding angles Same side interior angles -
Supplementary angles Vertical angles

Identify the Angle Relationship in each illustration.

60° N\ 120°

3. 1 4. 61°

29°




Complementary, Supplementary, or

Congruent Test
*Alternate exterior angles  *Alternate interior angles  Complementary angles Linear Pairs
*Corresponding angles *Same side interior angles Supplementary angles Vertical angles

List each special angle pair from the list in the table. Assume lines are parallel for *angle.

Have a sum of 96° Have a sum of 180° Are equal in measure

3. The measure of £ Jis 20°. What is the measure of its complement?

4. The measure of £ 7 is 110°. What is the measure of its supplement?




Missing Angle Measure Test

1. 2.
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Using a Template to Draft a Problem-Solving Summary

Write your complete sentence here.

To understand the | @ read for U signal words.
problem, L.... O looked at U numerical expressions.

O thought about U key ideas.

O considered the 0 familiar content.

O meluded i} a picture or drawing.
My first step in

devising a plan...

O began with
) was based on

0 used

0 a simpier problem.
U a variable.

L} working backwards.

To carry out the
plan, I...

O made a

O sgolved the

O experimented with

O looked for

The strategy 1
used....

¢ o 0O ©

resulted in

helped me understand that

made it clear that

confused me by

My next step
will...

O require that

Q beto

QO involve

O entail

WA B mhian e

Tanctenetinag Meanine Tamnbata b 1 aiar and Milaae

vananne mlaekie s s

|0



Name Date
MSA Inv 2 Refiection

1. Theequation “v = mx + b” represents a relationship.

I can tell because

The “y” in the equation stands for:

The “m” in the equation stands for; It tells me

The “x” in the equation stands for:

The “b” in the equation stands for: At tells me
For example, in the equation the value of “m” is
and the value of “b” is which means that

2. 1can use a table or a graph of a linear relationship to find a solution to a problem by locating either the

value or the value on the table or graph and looking at the number

In a graph you can find the second number by

. In a table you can find the second number by

The solution to a linear equation represents a point on a graph or in a table that includes two numbers,

{( , ). The first number represents an value and the second number represents a
value.

I can use an equation to solve a problem by a number for one of the

and then to find the value of the second

Adanted by jamie Cooper from Connected Math "Moving Straight Ahesd” Investigation



“  Name: {jwﬁ//&/!ﬁ W@Mﬁ ;ﬂ/ﬁ Period:&})ate: %@gﬁ

MSA Inv 2 Reflection

1. The equation “y = mx + b” representsa _| LYYOCLY™ relationship.

I can tell because W"W{ m% Ares e “a“‘r AA'SAVA AN %3%

g.@ﬂé p ga“"“‘“ EATI A %”m Yo S e %*W Yoneow.

The “y” in the equation stands for: _@mﬁwﬁw

The “m” in the equation stands for: __ "€ @ﬁ‘%"ﬁ, It tells me_ Yy
e yoyes bﬁéw

The “x” in the equation stands for: ‘tmé’%{’“ of *ﬁf‘%’%‘i&”“y% VO

;

The “b” in the equééon stands for: __{=~ %W"%ﬁ At tells me

e e mﬁ R ﬂméém Y \wwmm;

For example, in the equatlon X o the value of “m” is __ 2~

and the value of “b” is fﬁﬂ which means that %mu <hret oy
ang a0 4 A enthn e .

2.1 can use a table or a graph of a linear relationship to find a solution to a problem

by locating either the %ﬁz value orthe __X _ value on the table or graph

and looking at the number ¥y YN ¥ OxXI1S .Ina gréph you can

find the second number by iQf‘ﬁV‘ﬂﬂ%ﬂ ax e é.g OIS

. In a table you can find the second number by

o X% oo
%@m% AoN AL Uy B 19&4.3%% a’_wyve FF et o

The solution to a linear equation represents a point on a graph or in a table that

includes two numbers, (% % J. The first number represents an __% value and

the second number represents a &% value.

I can use an equation to solve a problem by %Um\%“aﬁ‘f‘ a number for one

of the MQA¥{ ¢t hﬁrﬁé‘“ % , and then {04

{ %@%éﬁ% find the

value of the second N/ iwibabe

/o,



Name: f’//::"(f.ﬁ- s ,}ﬂ-éffﬁﬂ % Period: k{ Date: §O£ 2*,}/;5

MSA Inv 2 Reflection

1. The equation “y = mx + b” represents a [ nea” relationship.

< L ; e ) .
I can tell because ! 4 e s & §5f‘d|‘3 L constean 7! vate gf
\_j‘ r

5!\

Gp g &g
7

The "y"’--in the equation stands for: ’f AQ’ de g “ﬁ chn f Vo e gﬂg G

The “m” in the equation stands for: S IO e ' . lttellsme_* Afl.

t

radte of cluage,
4L

The ‘X’ in the equation stands for: _fhe o d ependen Foae abile

The “b” in the equation stands for: the <tard, vale ttells me_w hot ©.
Yhe valpe of }j ) v ben X 1S Of

LT the value of “m” is __

For example, in the equation _y ™~

i

and the value of “b” is _J which means that _\ 1~ by Far fs _ar

5 an b ngreases Sﬂy 2 et L 4 e,

2.1 can use a table or a graph of a linear relationship to find a solution to a problem

by locating either the X value or the __¥ value on the table or graph

and looking at the number __# £ ¥ 055 © R In a graph you can

find the second number by \(j ? ,‘sy-;;; bo the L g, 4 fd Joe %@7“}#}

N ‘ﬁlﬁﬂ”'.‘r.gﬁf # jﬁ % 42-#
at dhe plher ©natable you can find the second number by

bo komg ot dho perber scro$s of 4,

The solution to a linear equation represents a point on a graph or in a table that

includes two numbers, ( X ,j ). The first number represents an % value and

the second number represents a value.

45T uatio Ve a problem by

of the , and then

a number for O

to find the

alue of the second




Name: Jﬁf(gﬂfr Fozl Period: Date:

Are the triangles below simxilar? Explain your answer.

I believe that these two triangles Are v Similor,
based on the fact that _The Sles gre apt WrGurtiphote
Further evidence can be found by__ylo ¥ \ﬁf‘awﬂﬂ\ Ahe A@& £y S

/‘%f’!ﬂ?u Wi@:kj Ak Yot Yhe come fiiljg . This proves that
ﬂ/\{’j oty Simer, .Because they _dp vt Laflwe

the two criteria of similar triangles, Qoff};f Gl Za R &M
and _Dpme M lrg

12



Name: %}%"‘?M% B‘;g{m@' &%@%ﬁ&i - Period: e’é Date?@-@ 23% ;2-@ Eq
Chrd s |

Are the triangles below similar? Explain your answer.

I believe that these two triangles (S \/‘\O‘t' Simila peCcaLS @ . |
based on the fact that_ ¢ fj NAUL, SGIVE - "@?'”EC% T ((ﬁ Vi {}S? {} ﬁci t if]
Further evidence can be found by#ﬁ/@ Qv Vm)gdﬁ ’

%} %"@@iﬁﬁ\@ {;E‘"\&X | . This proves that
Hﬂ@ﬁ are. Surmdar . Because they

the two criteria of similar triangles,

and
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